
Class:Class 5 Subject: Maths Topic:Ratio and Proportion

S.No Question Answer Options

1 Choose the correct option :

5,12

12,5

5,10

10,4

5,12

12,5

5,10

10,4

2 Reduce to the lowest form - 3 kg to 
200 g

15 + 1

1 + 15

15:1

1:15

15 + 1

1 + 15

15:1

1:15
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3
Choose the correct option :

3

4

0 

None of these

3

4

0 

None of these

4

A shopkeeper gives a boy two 
candies for every 5 books that he 
buys. What is the ratio of candies to 
books? ____________

Answer
____________

Answer
____________

5
True

False

True

False
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Correct Answer is
1. Correct Ans option is 5,12
2. Correct Ans option is 15:1
3. Correct Ans option is 3
4. Correct Answer is 2:5
5. Correct Ans option is True
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